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o & o &| 713 |100.0 | 214 574 9.7 45 0.4 6.5 0.0 286  51.1 203
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Ck M Cf = E4| 580 |100.0 | 82 91.8 0.0 0.0 0.0 0.0 0.0 85 663 252
7] Et| 1000 [100.0 | 00 46.8 0.0 0.0 0.0 53.2 0.0 00 1000 00
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E52 ¢l= 2AM| 1000 |140 | 284 140|622 140 | 00 0.0 0.0 94 140 | 00
g At 873 |125(627 140 (373 100 | 00 0.0 0.0 0.0 0.0
XHE :2022'H AAE T ALS| AL
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5. O|=H|o| REHEL

—Ho
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o|2H|
A K B molct | msoict | mojct 20
H|# #O|Ct Mt 0|}

2 2 2 58.4 25 21.7 58.8 16.0 0.9
< M s
o N 527 3.0 20.2 56.9 18.9 1.0
o Xt 64.2 2.1 230 60.3 13.7 0.9
< 9 3 & >
15 ~ 19 A 424 6.8 0.0 93.2 0.0 0.0
200 ~ 29 A 253 0.0 25.0 61.0 14.0 0.0
30 ~ 39 A 323 0.0 8.0 79.7 12.3 0.0
40 ~ 49 A 50.5 3.5 16.1 73.9 5.6 0.9
50 ~ 59 A 62.2 43 244 525 18.2 06
60 M O & 79.9 1.7 253 51.4 20.2 13
65 M o & 84.2 17 24.9 50.5 215 14
< % 3 & >
= ZE o g 86.4 1.8 23.8 525 20.0 19
= S 65.8 1.2 24.1 54.1 18.4 2.2
in| S 545 41 20.0 60.6 15.0 03
o £ o % 438 1.9 203 66.1 11.7 0.0
<FEHFHE>
5 = F H 66.4 25 24.1 535 19.6 03
Of ot E 59.3 15 243 522 19.1 29
Aa g = = 31.0 0.0 11.1 63.0 25.9 0.0
Ot Ml o = Ef 50.7 0.0 0.0 80.8 9.7 9.4
7] Et 100.0 0.0 46.8 53.2 0.0 0.0
<7t7e| EHAAS>
50 9t @ O gt 87.0 14 24.0 40.9 25.8 8.0
50 ~ 1002t O] 3t 82.2 14 317 40.6 24.1 2.2
100 ~ 2002+ 0| gt 79.7 2.7 213 55.6 20.5 0.0
200 ~ 300220/t 513 2.7 245 59.7 13.2 0.0
300 ~ 4002t/ 0|3t 51.8 36 19.2 57.6 19.6 0.0
400 ~ 5002+ O]t 376 0.0 229 70.6 43 2.2
500 ~ 6002l 0|3t 54.0 0.0 124 68.2 19.4 0.0
600 ~ 7002+l 0] 2k 293 0.0 0.0 75.5 245 0.0
700 ~ 8000+ O] 0t 50.5 0.0 12.2 50.4 374 0.0
800 ¢t & O] & 412 0.0 240 67.7 84 0.0
<FAHREEHE>
xt i Y 65.8 19 243 57.1 16.8 0.0
al A 416 0.0 22.6 61.6 15.7 0.0
233 Aes A 60.2 2.8 239 443 24.8 42
2353 e EA 55.8 0.0 27.1 473 17.0 8.5
g & 536 0.0 0.0 59.7 31.1 9.2
XHE :2022'H AAE T ALS| AL

- 151 -



e~
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Rafst | Rpatst
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=44 = 44 oloff | =TV TEE i

= | = dNH [ AR OH (2R HE | 4, | sEE

fxf& fxf& 27 | olzig gﬁlir zg, |meo | ns |2sz|mse| @ | Jg

gorct| msict| | V2N | gopg| B | @ |mEar) e | A g
2 2 2| 951 49 |1000 373 6.2 31.5 1.2 103 117 0.0 0.0 1.7
< M s
=1 XH 94.1 59 [100.0 439 0.0 263 1.9 115 136 0.0 0.0 29
o Xt 96.1 39 |100.0 272 157 395 0.0 8.6 8.9 0.0 0.0 0.0
< 9 3 & >
15 ~ 19 M| 1000 [ 00 [100.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 M|l 982 18 |[100.0 0.0 50.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0
30 ~ 39 M| 977 23 |100.0 619 0.0 38.1 0.0 0.0 0.0 0.0 0.0 0.0
40  ~ 49 M| 922 78 |100.0 527 5.5 6.1 0.0 12.1 17.6 0.0 0.0 6.1
50 ~ 59 Al| 946 54 |100.0 415 73 342 0.0 0.0 17.1 0.0 0.0 0.0
60 M O & 945 55 [100.0 25.1 2.7 498 2.8 16.7 2.8 0.0 0.0 0.0
65 M O & 943 57 [100.0 214 0.0 57.2 0.0 214 0.0 0.0 0.0 0.0
< % 3 & >
x= & 0 3 939 6.1 |100.0 30.1 0.0 498 0.0 20.0 0.0 0.0 0.0 0.0
= E| 945 55 [100.0 358 0.0 416 75 15.1 0.0 0.0 0.0 0.0
in| E| 948 52 [100.0 390 7.0 23.1 0.0 46 217 0.0 0.0 46
o £ o % 964 36 |100.0 426 147 207 0.0 72 14.8 0.0 0.0 0.0
<FEHFHE>
B = F i 922 78 |100.0 430 3.5 31.2 0.0 117 106 0.0 0.0 0.0
Of ot E| 937 63 |100.0 324 34 28.1 35 122 153 0.0 0.0 5.2
o Z F= E41000 | 00 |100.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ot M o = ®| 1000 [ 00 [100.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7] Et| 532 | 468 |100.0 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<7t7e| EHAAS>
50 9+ @ D] 9 893 | 107 [100.0 113 110 553 0.0 223 0.0 0.0 0.0 0.0
50 ~ 1002t O] 2t 89.1 109 |100.0 275 0.0 393 0.0 16.6 83 0.0 0.0 8.3
100 ~ 2002t 02 91.9 81 |[100.0 370 0.0 46.0 8.5 0.0 8.5 0.0 0.0 0.0
200 ~ 300202 956 44 [100.0 269 0.0 26.9 0.0 0.0 46.1 0.0 0.0 0.0
300 ~ 4008t 0|2 954 46 |100.0 802 0.0 0.0 0.0 19.8 0.0 0.0 0.0 0.0
400 ~ 5007HA 0|2t 94.6 54 [100.0 779 0.0 0.0 0.0 22.1 0.0 0.0 0.0 0.0
500 ~ 6002t 0| TH 1000 | 00 |[100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600 ~ 70020 TH 928 72 |100.0 1000 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 ~ 8002HRDO|2H 1000 | 00 |[100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
800 Tt 2 O] 4| 848 | 152 |100.0 35.1 29.9 0.0 0.0 0.0 35.1 0.0 0.0 0.0
<FHEREHE>
Xt 7] E| 946 54 [100.0 377 43 35.3 0.0 145 8.1 0.0 0.0 0.0
al M| 948 52 [100.0 232 0.0 26.8 0.0 0.0 50.0 0.0 0.0 0.0
B33 A= M| 920 80 |[100.0 318 4.1 25.8 43 148 129 0.0 0.0 6.3
252 ¢l ¥M| 742 | 258 [100.0 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
g At 889 | 111 |100.0 500 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
XHE :2022'H AAE T ALS| AL

- 1562 -



